
1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

PARTS LIST
DESCRIPTIONPART NUMBERQTYITEM

Modified Fischer SK 466sk46611
Gooch&Housego R21080-2AM-RFXaomdriver12
Hexagon Socket Head Cap ScrewISO 4762 - M3 x 843
 aomdriverbase14
Hexagon Socket Head Cap ScrewISO 4762 - M3 x 1225
Hexagon Socket Head Cap ScrewISO 4762 - M6 x 1036
 dsubpower17
Hexagon Socket Head Cap ScrewISO 4762 - M3 x 528
e.g. QGF-03 (Conrad 189013 - 62)heatpad19

1

2

3
9

4
5

7

8

assemble LIGO 
3-pin ±24V DSUB 
power connector

assemble Lemo 0B 5-pin 
power connector

aLIGO PSL AOM driver
assembly drawing
 
D1002707-v1


